A B
1 |ELDREDGE SKU DESCRIPTION
2 |7589195 FROSTBREAKER FOAM GRIP CAMO L
3 |CAMO0345070 CAMO LEVER
4 |CAMO350 CAMO PVC SCREWS - 350 CT.
5 [CAMOSBB CAMO SQUARE BOARD BIT
6 |CMEC450 CAMO EDGE CLIP 450 CT 250SF
7 |{CMEC90 CAMO EDGE CLIP 90 CT 50SF
8 |CMEC900 CAMO EDGE CLIP 900 CT 500SF
9 (CMECPE238 CAMO EDGE COLLATED PROTECH 1K
10 [CMECPF3 CAMO EDGE COLLATED PROTECH 1K
11 [CMEDT CAMO EDGE DRIVE TOOL W/ACESS
12 [CMEXC90 CAMO EDGE X-CLIP 90 CT 50SF
13 |CMGBIT CAMO GROOVED DECKING DRIVER BIT
14 (CMMP4 CAMO 4" MARKSMAN PRO FASTN. KIT
15 |CMMP6 CAMO 6" MARKSMAN PRO FASTN. KIT
16 [CMP1781750 CAMO 1-7/8" 1750 CTPROTECH SCREW
17 |CMP178350 CAMO 1-7/8" 350 CT PROTECH SCREW
18 [CMP178700 CAMO 1-7/8" 700 CT PROTECH SCREW
19 |CMPDBIT CAMO PRE-DRILL BIT 2PK
20 [CMS178350 CAMO 1-7/8" 350CT 316SS SCREWS
21 [CMS178700 CAMO 1-7/8" 700CT 316SS SCREWS
22 |CMSBIT CAMO S4S DRIVER BIT
2302615847 7x1-7/8" CAMO DECK SCRWS 350CT
24 |03736758 7x1-7/8" CAMO DCK SCR PROTCH 350
25 (07182074 CAMO DRVR BIT HDDN SYST GRVD 2PK




